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switch(=X){

default:
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break;
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#include <stdio.h>!
y
lnt main(void) {/
int n;. ki
scanf ("%d”, &n) ;0 ARE %
! R H AT B
switch(n) {!
case 1:.
printf("HEEBTY, 7).l
break; !
case 2.1
printf("XEEBTY, 7). !
break; |
case 3.1
printf("KBEBTYd, 7).l
break; - l
case 4:|
printf("REEBTY, 7).l
break; |
case 5.l
printf("EEBTY., 7).
break. |
case 6:/
printf("TBEBTY, 7). !
break; |
case /.l
printf("HEEBTY ., 7).l
> break; |
default:!
printf("ZT=>—") ;.
break,; - 1
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iint money =1; //IBEDEEE ; a=a+1- a++ 4\>7'J%>I~
! : a=a—1+ a—— FHYAIR

int month =1; //FHEDA

! for(money; money<10000; money*=2){

Ewhile(money< 10000){ - month++;

| money=money *2 | {1l
month = month + 1; | forsX &S &b A YKL
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prmtf("%d’rﬁ¥n" month);
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} finclude <stdio.h>l @
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ﬁ int add(int x, inty):,/7okr424TOEE
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S51//*4 o BA%.
6| int main(veoid) {!
1 J/ZEHOEE L.
8. ____inta=20://L____ ., % B DL L
9 //EEAEOFEUHL! - (1L5%3IHKLLTHELB)
f0f___a=add(l, 51
4 o, 0@ |2
> prin “a=%d", a)_.ll
@13 return O;J,u \ 4 518K
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int add(int x,

!
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mt main(void) {1

[/ZEHDEE & MHEEL
g;%a = 0.//1

" a ,
—pl.. s N
rintf ("a=%d”,
return 0; . *‘“;I'I:

tb’j‘f‘ﬁbéi'*)ﬂ'%) S g}
add(@@l%a L

return x+y. !
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Ohello)Bi%k : T AWCHIF) LRRTS
 Obye()Bif : TEx&LITB) LRRTS )
3lvoid helloQ;//BE DO 24 TNDEE!
g void bye() ;!
)
6|int mam(wmd) N
7| hello() //hel loFEZHFEUVUHT )
g : Eye() bye&ﬁﬁ%ﬂ?lﬁﬁﬁw
10) return 0;. ’W\>
il el
13|void hello (i)t —
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int main(void)

{
}

return O;

5l HEEM, R MEint

Int main(int argc, char *argv[])

{
}

return O;
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o [ 272 5
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o —ANVER .
' int main(void)
1
4intx =1 ERxDRA—F |
Z=X+1; sm O i
main()BIgs 5 e Y =3; s X
BRTETL f 1 return 0; i
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#include <stdio.h>!
J

int calc(int, int);// 7B 24 TDEE!

[/ A4 BEEL
int main(void) {!

ﬁgﬁwﬁgtﬂﬁt¢
int ans = 0,//1 HE -
J/FAEDFEUH L
ans = calc(1, 5)¢-------|
//H T
printf ("ans=%d”, ans) ;.
return 0;!

}¢
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int a[4]; inta[4] ={1, 2, 3, 4};
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; #include <stdio.h>!
!
zsmt Tam(wmd} { % N D E 4 o fE }
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S =21
9| al2] = 3,1
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c
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int a[2][3]

3 RchLy
int a[2][2][3]
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numbe.r[3][4] //Eﬂﬁllo)‘éi';

] 10pixel-

number[O][O] =2; //ﬁﬂ@] Mﬁé’rﬁ)\

kprlntf( “%d”, number[2][3]) ;/ /7]
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char s[6] = “Hello”;
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#lnclude {stdio. hyl

|nt maln(wald)’
int a[] = {1,1,9,2,1,1,1,5};1
Int 1,1
inF cnt=0;! .

| &_:_ i !;E 1

-

- orintf ("1DE(E%TE ", ont) ;L
!

return 0;.
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| #include<stdio.h>

 #include<stdlib.h> C " main(BE jl%&
int main(void){ Er)ﬁ absol()BIZX

i TEATHE-TH LS ]
i Inta=-5;

| printf(“%d,”,abs(a)); //amemE »_
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int main(void) {!
int yuko = 10000; //REZA®DF|.L
int mayu = 5000; //[EZAESAMDAE|L

int min = 0; //BFRA
.
while (yuko > mayu) {!

yuko += 100; //100A9 DIEZX 5
mayu += 350; //350AF DIEZX 5L

min++, .
|

printf ("%d¥n”, min) ;- |
.

return 0,
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#include <stdi
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int calc(int,

0.h>!
int);// 7R 24 TD
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int main(void)
Uﬁﬁ@?
Int ans =
//FAEDFEH
ans = calc (1,
//H T |
printf ("ans=%d
return 0;!

U
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[/a~bFETERLSE
int cale(int a, in
int 1, n=0;
for(i = a; |

> n+= 1,.
}i
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return n..
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1 [#include <stdio.h>!

2|1 | | Loop

3| int main(void) F¢ Pl
4| int a[] = {1,1,9,2,1,1,1,5};1 | =0, s

IR Int 1,1

IR Iint cnt=0;.

AR 1

8| for(i =0; i <8; i+H){L

9| » ifal[i]l] == 1) {!
10| * * cht++; 0
11 » } o
12} s
13| l L\ /)
}g > printf ("TOEITUITT ", cnt) ;L

v !
16| return 0;.
17]}4 Y : ” 1o%iz5TY
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int 1, .1

J
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for(i =0; i <7; i+H) {L

!
[/Tho EICIEEFICHRT 51
for(J =7: > i; jJ—{L
[/ EDANKREVNEZFENVCANEZ D
if(a[j] <alj-1]) {1
~int t = alj];!
alj] = alj-1]:¢
alj-11 = t:!
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